
INSTALLATION INSTRUCTIONS

PACKAGE CONTENTS TOOLS

DISCLAIMER FOR RALLY INNOVATIONS PRODUCTS: Buyers assume all risk and liability whatsoever for the installa�on and the use of Rally Innova�ons products. Rally Innova�ons products are sold 
as decora�ve accessories and should not be relied upon as protec�on for the vehicle or occupants in the event of a collision or roll over. Vehicles equipped with a supplemental restraint system 
(air bag) deployed by impact should not be modified by any a�ermarket Light Bar or Skid Guard without first consul�ng the vehicle manufacturer. Rally Innova�ons, a subsidiary of Pentech 
Automo�ve assumes no liability for injury, loss, incidental or consequen�al damages in the event of a collision or roll over.

Make:

Model:

Applica�on:

7/16” Socket or Wrench
5/32” Hex Key

Panel Removal Tool
1/4” Drill Bit

Rev. 07/22

QTY QTY
2

Subaru

2022+ BRZ

Side Spli�er

Remove the plastic fastener located directly behind the 
front wheel in the wheel well.

Staying behind the front wheel, there is another plastic 
fastener directly under the rocker panel - remove this as 
well.

Remove the plastic fasteners along the underside of 
the rocker panel using a panel removal tool or �at 
head screwdriver.

Moving to the rear of the vehicle, remove the plastic 
fastener directly in front of the rear wheel in the wheel 
well. Removing all these fasteners aid in gaining access 
behind the rocker panel to install the hardware later.

Side Spli�er - (Le� & Right Sides)

14 1/4” Flat Washer
14 1/4” Split Lock Washer
14 1/4”-20 Hex Nut

14 1/4”-20 x 1” Socket Bu�onhead Bolt

3 4

21



DISCLAIMER FOR RALLY INNOVATIONS PRODUCTS: Buyers assume all risk and liability whatsoever for the installa�on and the use of Rally Innova�ons products. Rally Innova�ons products are sold 
as decora�ve accessories and should not be relied upon as protec�on for the vehicle or occupants in the event of a collision or roll over. Vehicles equipped with a supplemental restraint system 
(air bag) deployed by impact should not be modified by any a�ermarket Light Bar or Skid Guard without first consul�ng the vehicle manufacturer. Rally Innova�ons, a subsidiary of Pentech 
Automo�ve assumes no liability for injury, loss, incidental or consequen�al damages in the event of a collision or roll over.

Rev. 07/22

7 8

9

Mark and drill out the mounting holes along the 
underside of the rocker panel using the splitter as a 
template.

Hold the splitter up against the body and line up the 
large holes with the holes where the plastic fasteners 
came from. Also, align the rear cutouts with their 
respective edges toward the rear of the rocker panel. 65

There are 7 bolts per side.Fasten the splitter to the rocker panel via (1) 1/4”-20 
Socket Buttonhead Bolt, (1) 1/4” USS Flat Washer, (1) 
1/4” Split Lock Washer, and (1) 1/4”-20 Hex Nut.

Completed assembly shown.


